@EP’I’ TaREHn+ A58 p%  (GEPT)

[TTC 2 R % 105 & = 8§ suitdp 4

DAEFA S AR URH o WA 2 ER (GEPT) BN+
ANED BT AT CEFDEFEN G R R 2 E Y B0
B ERETINTHIEY  amg o 2R E R A P s
Bo S BHNRRET B ABTTH PR mﬂb%;}ﬂv}ﬂai BOP|AE 2 AT
PEERBEFEEFREY L RREET A &’*’é’z%&‘éh‘ég‘?m
BRSPS FETF RFERBADEFNA TV HRES VY BYE

1 EE P 2R RERE sdv%fﬁh‘%?ﬁnﬁ‘“' 3‘-“'1"4"-%%%"3’
%¥ o

N\

AELERF LS 4 4 LA SFLARELAATHELA P a4 2
PR H e EW ﬁz;:?z;&*r}_%mﬁjo.;ﬁ;f Sl 7105 # 0 >
2% (GEPT)E A 2B P 475+ 4 (b 230X H#en 57%~ 7 & 36% -~
PRBEEBETY BT e BLpEREY alcs T A2 4 A HciE 23N
A B 60% s P & 33% P BEEFHRTY-

DI ST M= n s ¢ ot bl
LRt Y ¥ HER
S8 T% 58 T%
L
L
36% \ 33% \ |

Var's: o
57% 60%

22 L0l 163K hERF TAK T LA b 23nd 21
B 44% > L 1 56% o AR 4 ik 39% ~ ¢ 3% 31% ~ & % 26% 0 L 3% A
E2 ¢ WX 4% -



LB B R 4T

A ToEg 161k B ELE T4k -2 2 RY (7T9%) 542
S B AR Y B (17%) A ~ B T 4w 84.55 & ~ 77.20
A ,ggg§;§3§§< 50% ; B 1% 3.7 A ~ T3 3.7 5h 0 B EF 52%
EEE LAY R R Y 63K o

PaTmag 173k hERF T2 - nEE Y (50%) FEY 2
5o B LR B (27%) B4 ~ B Tiod %A w 8253 A ~75.72
Ao B iEF 46% ; B iT35% L v H3.6%4 0 B iEF 31%

EEET A R RE A B2 K -

PRBIHEM 205K BEL T2k T AL HHFY B F
TEFETL RS R ﬁliw*’”’a\‘QJSlZSA\ 8096&“%&% i % 51%;
BIT355Ah T 36ms BT EF 0% FEREE LA EEEE
% 57 &

BoBTIDEL25L ko RELEBOK T2 S L2 LA F Y AT
A CFH I 0w 7229 4 6837 4 0 FEESF 44% ;5 § 723
E&‘A,\\r"‘;bzg ’RA’\’F;‘“ 13@ 20%’ 14‘1_9_‘?—'}46-& Dﬁ-{’ﬂz45§«

Ladd gl R o2 R ARFLEZ IR, o

Bl= & E&K T2 gt b

12~14 m15~19 20~29 30~39 40 A

o CEEECTE v S 2%
TF o EETA

T4 10% 81% 8%

ina 9%



Bl & R4 A g b

db 2R m F 3

=8

El=E S 26%
F &8 42%
#188 35%

&R ARTFHREER

R -EBATHE

27% 12%

60%

120

1 40%

60
. 0,
30 20%
0 0%

#1188

m— g% ) R 84.55
B3 A5 77.20
W-REEFE 50%

T EHR % &

81.25 72.29
80.96 68.37
51% 44%

Yo BEEBRE ARARKERPEI0S  LERARSF RN AAARLSRHLI0S -

724 »

BN RE RS RERR

B EE R HERERE5 -

50%
4
25%
3
2 . - - 0%
#14R P 5 253
- A B 3.7 35 2.2
o 3R e B 3.7 36 2.9
- ZiRiBE 52% 30% 20%
* BEEAAEE 35449 44 5 34 4
v IRiEEEE 445 4 44 5 348 4




